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This Test Boo ck Ball Point Pen provided by the Board.
: s Tes klet consists of three parts - Part I, Part IT and
art I11. Part1 has 30 objective type : \ o
Y pe questions of Mathematics
consisting of FOUR (4) marks for each correct
Part IT Aptitude Test has 50 objective type questions
consistin pof FO Tatr o ORIRCENE DIDE qusstiony
Ve 8 UR (4) marks for each correct response.
youg' answers for these questions in the appropriate
space against the number corresponding to the question in
the Answer Sheet placed inside this Test Booklet. Use the
B’"_‘—’/ Black Ball Point Pen provided by the Board r::ilr; for
w.nting particulars/marking r(’Spo;[sps on Side-1 and
Side-2 of the Answer Sheet. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a quparatt"
Drawing Sheet which is also placed inside the Test Booklet.
Marks allotted to each question are written against each
question. Use colour pencils or crayons only on the Drawing
Sheet. Do not use water colours. For each incorrect response
in Part | and Part II, one-fourth (') of the total marks allotted
to the question would be deducted from the total score. No
deduction from the total score, however, will be made if no
response is indicated for an item in the Answer Sheet.
There is only one correct response for each question in Part |
and Part I1. Filling up more than one response in each question
will be treated as wrong response and marks for wrong response
will be deducted accordingly as per instruction 2 above.
The test is of 3 hours duration. The maximum marks are 390.
On completion of the test, the candidates must hand over the
Answer Sheet of Mathematics and Aptitude Test-Part I &
Il and the Drawing Sheet of Aptitude Test-Part III alongwith
Test Booklet for Part I1I to the Invigilator in the Room/Hall.
Candidates are allowed to take away with them the
Test Booklet of Mathematics and Aptitude Test-Part 1 & IL
The CODE for this Booklet is U Make sure that the CODE
rinted on Side-2 of the Answer Sheet and on the Drawing
Sheet (Part IIT) is the same as that on this booklet. Also tally
the Serial Number of the Test Booklet, Answer Sheet and
eet and ensure that they are same. In case of
discrepancy in Code or Serial Number, the candidate should
immediately report the matter to the Invigilator for replacement
of the Test Booklet, Answer Sheet and the Drawing Sheet.
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Part I / forel o
Mathematics / o, o T TH y=e* sing

1.  The abscissa of a point, tangent at which
to the curve y=e¢* sinx, xe[0, =], has

maximum slope, is :

(1) =
o«2) 0
B) 7

4. 5

2. Leta, b, ¢, d and ¢ be distinct positive | 2.

numbers. If a, b, ¢ and 1, l, 2 both are

otd e
in A.P. and b, ¢, 4 are in G.P. then :

(1) a,c earein A.P.
(2) a4, ¢ eareinGP.
(3) 4, beareinGP.
(4) a4, b earein AP

3.  If the system of linear equations : 3.
X+3y+72=0
—X+4y+7z=0

(SIn38)x + (cos? Oy +2z=0

has a non-trj vial solution, then the number

of values of ¢ lying in the interva] [0, ],
IS ;

(1) more than three

(2) one
*{{{) two
(4) three

1=

Woﬁjgmmﬁmﬁw%,%: J
IE[I

® 7
@ 0

7K
e,
@

W(t,l?,(,dﬁmefq?%m%l Ifg
a b, cam L 1 1 26 auia 4€ ° € qen

casds=e

[,lad'ﬂ'uﬁ'mﬁ@ﬁ%,?‘ﬁ:

(1) n,t‘,t’ma—éﬁ_g'
) a,c e OIRR A H ¥
(3) ab,e TR A H ¥
(4) ab,cTHR IS H F)

X+3y+7z=(
—xX+4y+7z=
(sin38)x + (cos2 )y +2z=0
1 TF T T €, A siqere [0, ] § 9=

EIC| 6% HHI 1 ey 3
(1) T F iy

(2) w=w

@)
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. TLet S=-"{zeC:z(iz1 -1) =2z +1 |z <1}. | 4
Then, for all z € S, which one of the
following is always true ?

(1) Rez—Imz>-—1
(2) Rez—-Imz<0

(3) Rez+Imz<0

@ Rez< 0
dx
b Tf J . 5 =f(1‘)(]+x*6)”+C.
x° (1+x°)73

where C is a constant of integration, then

f(x) is equal to :

OF
1

(2T )
% 1
A—{I) =4 (:
6

0] ettt

HMAT S={zeC: z(iz =1) = z1 +1, |z |<1}
%.?ﬁﬂ%ﬁzesﬁamﬁqﬁ@aﬁ?m@
THIM T 72

(1) Rez—-Imz>-1
() Rez—Imz<0
3) Rez+Imz<0

(4) Rez<0

& ]¥_dx—T=f(x) (.1+x_b),]‘%+C
xj’ (]+ .1'6 ),‘
€, S8l C HHTHEH TR 8, 1 f(x) S E

X
2 B B

1
) 5
2 ael
(3) 6

6
By, =

im ((1-x)+[x =1]+[1— ), s&= [x],

6. lm (@-x)+[x -1+~ ), where | 6. lim
[IIJ denotes the greatest integer less than 1 & SR 91 399 FH HeqH W EAREIFA
or equal to x : FEA T
(1) does not exist (1) A e & © )
(2) isequal to —1 (2) -1 % ST g
(3) isequal to0 (3) 0 % ST &l
(4) isequaltol (4) 1% ST gl
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7. A code word of length 4 consists of tWO ferfgt ST
distinct consonants in the English alphabet 37F 2 fo e gq'{ﬁfﬂ?f 'HEbTﬁ *'
followed by two digits from 1 to 9, with FEI= forereh 3 SF TR
repetition allowed in digits. If the number 2 ot k STELE
: : 432k ©
of code words so formed ending with an
even digit is 432 k, then k is equal to :
(1), 35 @2
@) 7 @ 7
3 5 3 ° E
(4) 49 (4) 49 :
8.  The sum of th 3 Lty L 3..
- im M 5= o1t 371 * sy T 10T
g L 1
19 " 31171 T 575 o to 10 terms s 14T S, T
519 b
1 =Y 19 o
ST ) 2
19! &
g
219 '
& ?) 20
20! 3
220 ,‘
3) — 2
20! 220 3
B)ak s ¥
20! .
:
10 E
& %T 10
' (4) —2- 3
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9. A line passin
g through th : ;
meets the line T e POI'nt P(1;27°1°9: fﬁgP(l,Z) H BT ST aTelt T Wix+y=7
3 uni at the distance of HPY { Y
ts from P, Then g 3 T 1 g W et ¥ 1 o T
satisfies th . e slope of this line 1 @1t forq weie =1 o
e equatwn : W m %} a-b"% .
(1) 7-1'2-6.1:—7-_—0
(1) 7x2—6x-7=0
(2) 8x2—-9x+]=__0
(2) 8x2—9x+1=0
Sl E s (3) 7x2-18x+7=0
(o — X =
4) 16x2—39x116=0 (4) 16x2-39x+16=0
102 Ifithe fun(-tion f [I, 00 [—A [1, 20 [ is | 10. 4gfe THed f [l o [_) [-1 o [3-\5{ TFT
defined by f(x) =3%x~1). then f1(x) is : gftsfag & ﬁ;ﬂ;—):gx(x—l)‘%_ ?hf‘l(x) i
: (1) not defined 1) ofeefiE 74 &
“q \‘—‘(1‘“ \x(x—1)
2 — ISk
@ 3 (2) gJ
| U7 s}
(3) E(I-\I”LJ'IOSN) (3) 15(1-\j1+410g3x)
‘ 1 e 1 e TR
(4) -;(1 + /1 +4logj 1) (4) ;(1 h4 LS 410g3x)

11. For a positive integer n, if the mean of the [ 11. T g n % T, R (a+b)2 2 &
binomial coefficients in the expansion of YER § T[0T 1 HIEA 16 T WM TRE:
(a+b)?" =3 is 16, then n is equal to :

1) 9 (T
@) 4 (2) 4
(3.5 (3 9
4) 7 4) 7
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12.  The solution of the differential equation
ydx + xdy  x? oV

ydx — xdy it

satisfying y(0)=1, is :

Sinx cosy
LRI y(@)= 23 17

SINX +cos x +1

siny cosx sinx +cosx +1
13

+[18. 3fg y(x)=| 23 17 . .
(g 1 L% 1 L ;
dcy ) :
€ R, then (_?'1? + ¥ 18 equal to xeR% dr 4 ':/ +y TR E
: dx*=




14. For all values of ¢ ¢ [0, —?—]
2 r

the determinant of the matrix

—2  tanf+sec?y 3
—sind cosf sing
3 3 3

always lies in the interval -

o 1)

o |L 2]

3 [3 5]
4) 4 6)

15. Two vertices of a triangle are (3, —2) and
(=2, 3), and its orthocentre is (—6, 1).
Then the third vertex of this triangle can
NOT lie on the line :

(1) 3x+y=3
(2) 6x+y=0
(3) 4x+y=2

4) 5Sx+y=2

16. If fis a function of real variable x satisfying

f(x+4)—f(x+2)+f(x)=0, then fis a
periodic function with period :

14.

15:

16.

0< o 7] 5l it 35 ferw, s

-2 tanf+sec’d 3
—sin# cosf sind
-3 —4 3

1 Hrfore g8 forg Haue & frem @ ag .

o (%)

2) B 24—1]

G) 3 5]

4) (406

afe Tk v % 2 9 (3, —2) T (-2, 3)
T q1 3HF Fahw (=6, 1) ©, A By &
e i e T W fem T8 @ gwa 9=
g: :

(1) 3x+y=3

(2) 6x+y=0
B) 4x+y=2
(4) Sx+y=2

g [ TH Tt w1 x 1 6o € W @
fx+4)—f(x+2)+f(x)=0 H T F@l ¢,
ql f Uk STl e & SRt - ¢ :

.(‘\D/J'f‘{““fk”fk) j

[ @) 12
(2): 36 2) 6
3) 8 3) 8
4) 10 @ 10
U/Page 7 SPACE FOR ROUGH WORK / T & & fetg s
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17. The value of cot(

1S :
21
() T
19
(2) 20
20
(3) 1o
19
4) 1

E cot ! f] " i ZPU

=] p=]

18. If the line x =4 bisects the area under the

1
curve y = —-, 1= x <9, then ‘a is equal

X

O
e
Ol
G
9
(3) =
)
',
(4) )

17.

18.

3 2 | EQR:IEES =
19 ; :
o ZC‘“I[]+,,2=:I P v
”_—-'1 _‘:.
21 4
1) q9
:[_9_
(2) 30
20
@) 79
'L‘)
4) 5
Ifg ¥@1 x=a, 9 _g/=i7,15x59 *
72
= & SIS & FHG GO 3t & df o
S ©
9
1 =
(1) 1
4
(2) 9
9
B = |
j \
4 O 1
(4) 5 )
1



19. Foralld, 0<q<q, which one

: ¢ f th i " :
points is the reflectiono : efouo@g 19. H?-ﬁ d, 0<d<1 % fero, f7=1 § 9 = =1 faig,
(d, 2d, 3d) in the SRR 0' the point fag (d, 24, 3d4) = fagt (1, 0, 0), (0, 1, 0)
the points 1,0, 0), (0, 1 Passing through a41(0,0,1) A T I 1 T & s
W 1,0)and (0, 0, 1) 7 %)
3 e 1 2.
R
: (1) (3 43 d + a’)
2 2
(2) (“ = od g TR
> P e @) (% =34, = o aj
1
(3) [‘ ~+8d05 L
3 i o (3) (—%+3d,2d,%+d]
(4)  (3d, 24, d)
@) (3d, 24, d)
D). At :
Or a matrix A, |A|=6 and |20. =fe AT A F fag, |A|=6 qaT
i 1 =gy
adj A=|4 1 1 , then k is equal to : adjA=|4 1 1|% fka=RE:
el ol STU
EINRE (i) .2
(2 -1 2 -1
3) 0 @ 0
21. The foci of a hyperbola coincide with the | 21. T& AfqRaed st i Teh é‘\m
5] 9 ) )
i " X5 Y- o s s
foci of the ellipse "})E + 1-;— =1. If the ;—; + ’7 =1 F A % ged ¥ afe
eccentricity of the hyperbola is 2, then the FfTIEed Ft Ichgdl 2 §, o 39 Afqeea
equation of the tangent to this hyperbola i feig (4, 6) | TS STl T4 Tl 1 HHIHL
passing through the point (4, 6) is : 8
1) x—2y+8=0 (1) x-2y+8=0
(2)i 2x—y—=2=0 (2) 2x—-y-2=0
=2y =
(3) 3x—2y=0 (3) 3x-2y=0
/ 2y — 10=
(4) 2x—3y+10=0 (4) 2x-3y+10=0
U/Page 9 SPACE FOR ROUGH WORK / T% w1d & fou wme :
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22. The negation of A—(Av~B) is : 22.

(1) equivalent to A—(AA~B)
(2) a fallacy
v (@nsva tautology

(4) equivalent to (Av~B)—A

2
23. The integral f[.\‘z]dx ([t] denotes the | 23.
0
greatest integer less than or equal to f) is

equal to :
1) 6-v2-3
2 3-v2
@) 5-2v3
4 5-V2-.3

24. From a point A with position vector 24,

A

A A
,”(f' + j + A‘),‘AB and AC are drawn

oy

. - f\ VA A
perpendicular to the lines r =k+ A([ 3]
= A A A
and r =— k + PZA R ;) respectively.

A value of p is equal to :

A—>(Av~B) 1 FTa4 :
A—(Ar~B) % 99g ¢
(2) T FAH &

(3) T TR
(Av~B)—A % gaqA &

(1)

4)

2 - %
T [ [x%]dx, (ST, Bkl

A UITI‘]'UTW\" 1 fafée FI §) e

8

1) 6-V2-3
(@) 3="/2
B) '5—2.5

(4)Eis Lt S/

fog A o= feafa afew P(?+?+£) g,
H AB 91 AC F9: TEiat ?=E+A(?+?)
e 7:—ﬁ+#(?—?) & Teed i
T E | p U A S

(1) 2 ()2
(2 -2 (@)
N Sl
4 2 4 S
— - SEO by 6
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25]

26. The plane through the intersection of the

planes x +y+z=1 and 2x+3y—z+4=0
and parallel to y-axis, also passes through
the point : &P, 2o
x(1+24)
A1)
o v €38
) 201-4)
(3)

~\—YARO
o tLha),
(4) e

(3,0, —1)
(=3, 0, —1)
3,0, 1)

I o

(—3,0,1) 3

27. The number of integral values of m for

which the equation,
(1+m?) x2—2(1 +3m)x+ (1+8m)=0, has

£0)

26.

27

A PQ TREe y2 = 4x FI T Y ey 2
e PQ =mm T I F Fz m
Vo +4 =0 W feor &, 1 Sfran pQ %1 e
e

g
@ =
@ =
) 36;/5

W’(ﬁ:fx+y+z=lﬁm2x+3y—z+4=0
+ Yfesed ¥ e S aren gudd, i
y-3781 % TR 7, fora foig ot e &, a7
T

1 @0 -1
(124 Ml b5 o = )
() 6,01

4) (-3,01)

m % 31 QUisId "l h1 qed, o9
e wHieR
(1+m?) x2—2(1+3m)x+ (1 +8m)=0 1

no real root, is : e IRG(ae Hel el ©, © ¢
(1) infinitely many (L) ot
f () G
i 2 il
3) 2 (3)
4 3 e SEE
U/Page 11 SPACE FOR ROUGH WORK / TF &1E & T e 'lj
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28. Let p(x) be a real polynomial of degree 4
having extreme values at x=1 and x=2.
If lim M =1, then p(4) is equal to :
x—0 .t
(1) 64
(2 8
V) 16
@) 32
"C; ’ 36 .
29T Z(zﬁ] e then n is
equal to :
,}{1 j)is
2) 10
G) 11
@ 12
30. A box contains 5 black and 4 white balls.

A ball is drawn at random and its colour
is noted. The ball is then put back in the
box along with two additional balls of its
opposite colour. If a ball is drawn again

29

30.

28.

m‘lm@aﬂaﬁﬁa@a

WP(:;)% o1 @ x=2 W %I",
=TH :
11_,0 x* Di1
(1) 64
@8 : fr
(8) 16
(4) 32 ‘
5 Pﬂ
3
n ”Ci__l J = % %}an
afe 2\ 7, + "Ci—1 13 1
= : 3']
?: p |
@ 13
@ 10
@ 11
4) 12 ‘; ‘.
3

T o A 5 hell 97 4 The TS 2 3@-’71
IS U e Fewredt T a2 THeH G e
fen 1 59 T Y, TR Taudd o st ,\
st 7 % T o & A < e
T | mq&mn;{@ﬁaﬁ'aﬁwﬁfﬁm

from the box, then the probability that the SH T T H BN F AT ®: 7
ball drawn now is black, is : ':1
48 48 48
Wi M 5 4
) o
@ 5 @ + b
2 5 b
/T (3) T F
53 o
— 23 g
@ 5 (4) o
o
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| ~ PartI1 / ymrqp
| APptitude Test / sifirefy Titaror

Directions : (For Q.31 15 34)

Which one of the answer

| three problem figures ?

figure will complete the sequence of the

R (T 3 B3 F forr ),

| WWﬁ'ﬁﬁ?—ﬁaﬂ%ﬁﬁ?WW'ﬁﬁﬂﬁ#
| HIHH (sequence) QT & S 2

Problem Figures / yo T
Answer Figures | SR Sl

NV NP

A @

K A

AR % N 7 % % %
(1) (2)

(3) )

32. i\}f@ @ i
(1) )

2) 4y

A > |7 T L BN

(1) (2)

- 5 5 5

1) (;)r 3) (4)

U/Page 13 SPACE FOR ROUGH WORK / 1% & & faw wvg




B T B ——————

[ QUTe L
_  oeadt B=D fig : in the problem » )
Directions : (For Q. 35 and 36).  Identify the coT" ition n8:gren i e figure on the
12 art‘O?U:

feer : (7. 35 311736 & g )1 3-D3?'IT3W##WW 4

which has the same r',’le“ Sy
left, looking i1l the direct

g g e ST @ P &

Problem Figure / Answer Figures / 3T Srpladl

T TFHIA

g o 2
B BBl

Directions : (For Q. 37 to 39).

a9 : (7 37 @39 % form )

Problem Figure /| 397 STIF T

37

7

2) NE g

ie=
(4)

from amongst the answey ¢ 1

The 3-D figure shows the view of an object. Identify the corp
Jfront view from amongst the answer figures, in the direction of the

arrow.

3-D 5¥7 STFIT 4 T 9% & TF T99 1 [e@ray 797 & R @ fan
H 3@ gy mmm%?ma@ﬁafﬁ'@vﬁﬁm

Answer Figures / 3w STHTTar

]
. L
(1) (2 (

U/ Page 14

3)

SPACE FOR ROUGMW




e problem Figure / F¥7 ey

gl

38.
A

P
39.
7

Directions : (For Q. 40 to 42).

fR9r : (7. 40 @ 42 & form )i

Answer Figures / 3w sirgpfaat

B d il

1) S @) (4)

==

) 2) Or @

The problem figure shows the top view of objects. Looking in the
direction of the arrow, identify the correct elevation, from amongst

the answer figures.
T¥T 371fd 7 aegeit 1 9t g9 fe@rar T &1 dR @1 fovn 7 a@q
&Y ST P § @ Wel a3 e

Problem Figure / Answer Figures / 3T 3Tplaar

797 HIHId

U

40. DDD

’

| s L
() @ T @

2

. 0N Nl B Dl Pl

(1) w0 (3) (4)

U/Pa ge 15 SPAC
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Problem Figure / Answerfngures/ I SFT
y¥7 SFld ~ :

7 (1) @ |

orrect view of th
Directions : (For Q. 43 to 47).  Which one of the answer figures shows 'the c i f the
problem figure after the problem figure is Openea up :

PR (743 §47 % fow))  3-D 597 s7Fld 1 @i T, IR SrFiadl 3 § Tel 5% Fi .
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Directions : (For Q. 48 to 50). One of the following answer figures is hidden in the problem figure
in the same size and direction. Select the correct one.

Fsr: (w48 @50 & fw)) 719 & 791 S0 S 3 @ T SHfa 719 SR fewm 4 q5E ®9 @
g9 3rFla ¥ g9 &1 @7 9 9et & gy
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Problem Figure | ¥¥7 Eeac Answer Figures /

SAA] ¢
o KON Sl e

o) @) 3)
o 50 G
wg"j § s 3) (4)

.

- ‘ jven below in the
Directions : (For Q. 51 to 54).  Find the total number of surfaces of the object give
problem figure.

P - (%51 @54 % FT0)1 797 sty & fefa e # we) &1 7 ST 717 174 |
Problem Figure / F¥7 371glq
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52,
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53.
(1): 21 (2)80 4 3) 19 W 22
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sroblem Figure / 9vq ST

54.

18
(M 2l 17
3) 19 (4) 16

pirections : (For Q. 55 ¢, 58). '
The 3-D problem figure shows the view of an object. Identify the

corr j
ect top view from amongst the answer figures.

fider : (%55 & 58 3 forg ), 3-D T st 7w awg ¥ s gva w o T &1 T 6E
ST 5V, IR S T 2 v

problem Figure / 397 31t Answer Figures / 37 ST faar
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A ol . the Correct mm‘
B o100 5). . Vhich ome of the a7 £ ;Z ? s
ons : (For Q. 59 to 65). p}abkm figure with respect 10 X a? S )
BB | e T
or . (@ 59 @65 F @) W sl 7 ¥ 7t 7 '
AR b aﬁmyﬁﬁﬁ : y
Problem Figure / ¥¥7 ST Answer Figures / 37 C e ekl
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Interior of any room will appear larger
when painted with which colour i

66.

v(1)  White colour

(2) Grey colour
(3) Blue colour
Black colour

(4)

67. Nalanda is :

(1) A Fort in Bihar
(2) An ancient town in Sri Lanka

3)

v

A Temple

Ancient center of higher learning

68. Which is best used as a sound absorbing

67.

68.

v fea 2 T

@ W=

2) a3

I

(4) TN

Areagl T -

(1) ferer & foem €

(2) et H GO TR E

3) THfe

(4) TUEA I AR H hA ©

A Igre sEf-sraee & fom, faur

material in partition walls ? AR ¥ o S9e] WE H I Sl e 2
(1) Stone chips (1) YR & TFHs
(2) Steel (2) ¥4
\m Glass-wool (3) =& w® (Glass-wool)
d)(f Glass pieces (4) Fi9 ¥ gﬁ
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There are maximum fois

of India : ts in which State | 6 ;
e 69. YA H Fad stfersk am forw wow & 29
(1) Himachal Pra At
(1) feur=e wewm
(2) Uttar Pradesh '
(2) SWyw
_A3)  Karnataka
(3) HATEH
(4) Madhya Pl‘adesh y
(4) T yeW
70. Which one of the followine :
i, ollowing is not an | 70. 7H ¥ %= 4@ ARGFR TE 2
(1) Hafiz C
1z Contractor (1) - .:&
2 Raj Rew
(2) a] Rewal 2) A
: \/(4) Zakir Hussain (4) SRt g
71. Which person is famous for the extensive | 71. 0 § 22w o fafaua ¥ o0 F 9l
brickwork in Kerala ? 1 o AR A5 ?
« (1) Achyut Kanvinde (1) 3F=d FHET
(2) Laurie Baker (2) R
3)  EOIS higael
(3) Hafeez Contractor ®)
(4) =ed B
(4) Charles Correa =
P ORK / T® & fou se
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72. FEiffel Tower is located in:
@)
(1) Beijing
2) e
(2) London
| @) SirEl
(3) Australia
A4 Paris (&) F I
73. Shahjahanabad is a part of which one of | 73. Qﬂ%ﬁﬁ?ﬁﬁ frefefiad Ted = | m Y
the following cities ? feee? .
(1) Allahabad (1) SeIRES
(2) Lucknow (2) ©TEIH ]
(3) Delhi 3) faeedt
: (4) Aurangabad (4) 210 1 4
74. The temple of Angkorvat is in : 74. IHRAR :
O i @ wEEE
«(3) Vietnam @) f §d
(4) Myanmar () §a
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75. Which one gf the ¢q
Earthquake resistant stru

1)

uowing is an
Cture ?

Random stone Masonary

(2) Mud walis

) RCC framed

(4) Load bearing brick walled

76. Howrah Bridge is :
(1) Resting on brick arches
(2) A steel structure
(3) Resting on concrete pillars

/(4) Cable hung structure

77.  The famous work of Leonardo Da Vinci

is :
(1) The King
¢ (2) Cleopatra
3) Elizabeth
(4) Mona Lisa
78. Aswan dam is situated on which river :
’( (1) Irrawaddy River
(2) Amazon River
(3) Nile River

4) Rhine River

wnx/mm%mm

75:

76.

P

78.

T?
(1)
(2)
)
(4)
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EEEEIR G

(1)

32 &1 =il W feh g n
U W e §
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79.

Buland Darwaza is located in :
(1) Golconda

\/(2) Fatehpur Sikri
(3) Red Fort

(4) Agra Fort

79.

i 2 i o e T &2

80. Which one of the following is a sound | 80.

reflecting material ?
(1) Cotton Cloth (1) Fdt e
(2) Woolen cloth (2) FrAl HIS
3) Wood (3) HS

/(4) Mirror (4) AT
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